More, money problems

Olimer M has £25 'Lrvhi&rnone,g/bo'x;.
His Dad, gives himv £30 more.
He ther buys o dinosaur for £15.

How much money does Oliver M have
left?
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Tallulah.
How muchs money, does Bailey have left?

A scarf is £12 and a coat is £35.
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a £50 note.
Howmu&vd\m\gemlbjacksomneoewd?

Rosie has 25 pence.
She wants to buy 2 paper bags
that are sold for 15 pence each.

Does she have enough money?

Ivan has 50 pence.

He wants to make 4 kites.
It will cost him 10 pence to
make each Rite.

Does he have enough money?




